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3. The derivative of f(x) = cos (x2) is: ' | Ly
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4. The function f'(x) = %is the derivative function of: -é-{ WX,
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5. The derivative of f(x) = log (x3) is:

. The derivative of f(x) = secx = ﬁ; is:
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7. The derivative of f(x) = +/sinx is:

8. The derivative of log, f (x) is;
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9. The derivative of f (x) = x%lnx is: .

Lj 2%t -——— 2xlux + A
20 X - KGuaX % ( )
10. The second derivative of f (xj = xsinx is: _ s 4 J
L .
| Y'= - Guax 4 L Lt o Chmx.
Y = oot Lot X(Hn2) ; ‘I
| |
11. The équation of the tangent line to the curve f(x) = 2* at the point P(0, 1) is: |'
h'=2%- 1n2 [P liin-nts. | \
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12 The derivative of f (x) = tan (xz) is: §. %
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13.. The tahgcﬁt line to the curve y = lenx is horizontal at x equal to: . ; .5
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14 If f'(x) = 4f (x), then f(x) is: ’ ' 4% : (J)
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15. If the position function is f (x) = 3cos (2t) then the acceleration function is:
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Short Answers:
16. Differentiate. Simplify as much as you can. . :
a) y= (1 +Iag.5‘mx)“ . b) y= = “ogzggnx._ﬂ
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17. Use logarithmic differentiation méthod to find the derivative of the foﬂomg?[

a) y= :;jxi;;: B Ry b) v =L sin (ﬂ]n (=)
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18. A particle is moving éccordjng to the position function s(t) = 2sint — cos2t.
(Relations you may find useful: sin2x = 2sinxcosx cos2x = cos’x — sin*x)

@) Find the inél positon ofth partice '
S(t=0) = 2600 -0 = 0 J=—|

I

b) Find the velocity function
Vi) = €)= 200t + Sl ;5 = 20t + 28t
¢) Find the initial velocity of the particle.)

Ult=2)= 200 + 26w0 = 2+0= 3

d) Find the acceleration function.
olt)= Vitd)= —2Suct + 20k -2« -3Gwdt +4 Covrt
|

e) Find the initial acceleration of the particle.

O5)= 250+ 40 = 0445 14 (s

f) Jerkis defined a derivative of acceleration with respect to time. Find the jerk function.
A RS
\J) = 6ilt) = —20nd + G 9wst) -2 = a0t 6 $onat

g) Find the initial jerk of the particle.
dt=o) = 200 ¥ 850 = 289 - -2
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19. Use implicit differentiation to find and equation of the tangent line to the curve sin(x + y) = 2x — 2y I'._

at the point (p, p).
(T, T0)
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20. For the curve ¥ + y? —xy +3x — 9 = 0:
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a) Determine o
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b) Where do the horizontal tangent line occur?
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¢) Where do the vertical tangent lines occur?
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21. Consider the equation (cosx)y?* + (3sinx — Dy + (7Tx—2) = 01’

- a) Check that x = 0,y = 2 satisfies this equation.
- (com) - 33+ B SwO-1) ) + (Fro-2) =0
o . ]
b) Find % at the point (0, 2). ¢) Use the quadratic formula to solve for y in terms of x.
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